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] Adduction Movement where limbs are moved
Tough tissue that surrounds the Muscle
joint, supporting by ligaments i— back towards the body
to keep the joints in place
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; e Rotation Turning a limb along its long axis
Synovial membrane Attaches muscle to bone to allow
This produces synovial fluid to movement
prevent friction at the joint Ciiiisa Plantar flexion Movement at the ankle where the
Joint cavity Spongy material at the end of each v toes are pointed towards the
This contains the synovial bone to provide a friction free
fluid to prevent friction at the surface ground
joint
Dorsiflexion Movement at ankle where the
Bursae
Ligament S
Joins bone to bone | Fluid filled bag on the outside of the joint toes are pu”ed up towards the

that helps reduce friction from
movement of the tendons

knee
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Muscle Action

Phase 2 of a bicep curl

I Phase 1 of a bicep curl
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» ¥ & . : The bicep is the prime
Pectorals ([Tt = : ZLalpsi mover/agonist because it is the

The bicep is the antagonist
because it is the relaxing
muscle.

contracting muscle.

The tricep is the prime

mover/agonist because it is the
contracting muscle.

The tricep is the antagonist
because it is the relaxing
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